log (*) LABJNDuO standard lightnessI*
* Yac=Yw  nc=100,

I* L ABINDUO=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
* L ABINDUO=IN(A 17+ A2)/(A2yAon) - (X=YTYy)
I* (3,6)=320] ,(18)=748 [* ,y(90)=1164

logli* /1* jJ=0, m,=

4
I* o=1163,74, A=/ K666, &U=d,1044, 1,00
*1g=747,51, A =C 07, A,=0
I3 F326.7617,=7 W51 18 :

,. |’QJ 1
2n=0.2  Ixy=5

application
range

LABJINDuO
tristimulus value difference
Yoc=Yw - nc=100,
I* LABINDUO=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
I* LABINDUO=IN(A 10+ A2X)/(A2yAon)  (X=YTYy)
dY=Agn(A1rtAznY)=Agn(A1itAX), see CIE 230:2019
dYgg=0,35, Ay,=0,6666, A,=0,1044, ¢=1,00
dY;=0,08, A=0,017, A,=0,0058
dY3¢=0,02 Y,=18, dY=0,08 o

I* ;=748 dY,=0,08 dY,/Y,=0, 0044

log (AY/Y) LABJNDUO
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,
I* LABINDUO=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,c)
I LABINDUO=IN(A 10+ A2X)/(A2uAon) - (X=YTYy)
AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y:=0,0039, A4,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)g=C 0044, A=0.017, A=0,0058
(dY/Y} 60,0770 Y, =18, dY=0,08

application

log(dY/Y)E—2,34 m=-0,1.5 ~ _
¢ =748 dY,=0,08 dY,/¥,=0,00441

|>QJ’:l
Xw=5

XxN=0,2

log (Y/AY)
C,=(Y/AY)

LABJINDuO
tristimulus value contrast

Yoc=Yw - nc=100,

1%L ABINDUO=IN(A 107t A2Y)/(A2nAon)  (Yn/100<Y<=Y,o)
1* L ABINDUO=IN(A 10t A2X) (A2 Aon)  (X=Y1Yy)
YIGY=Y/A g Ag Ao V)IEX Y TA oAt Ag )]

Iog(Y/dY):Z 34 m=0, 13 - ==

(Y/dY}o=250,4F, Ay 20,6666, %—o 10442 00
(Y/dY)§=222 .40, A,=0,017, AgntO o0sgREY Ca“(’"
(Y/dkau 42,55 Y,=18, dY=0,08

xN=0,2 .><w—5

log (*/* ) LA?JNDUO re_lative standard lightnessl*/I*

1%/1% u Yoc=Yw nc=100,

1* L ABINDUO=IN(A 1n+A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* 1 ABINDUO=IN(A 10tA2) (A2 Aon)  (X=YTYY)
I y(3,6)=329* ,(18)=748 [* ,y(90)=1164

I* ggfl* =1,55, Ay,=0,6666, 4,=0,1044, ¢=1,00

I* g/l =1,00, A =0.017, A,=0,0058

I* 3,/ =0,43,X,=747 51 Y,=18

log[i*/I* ]=0, m,=0,33

L* =49, I* =748
application
range

X,=1
Xw=5

[ 2xn=0,2

log(A Y/AY i)
AYIAY,

LABJNDUO relative
tristimulus value difference

Yne=Yw nc=100,
1* L ABINDUO=IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* L ABINDUO=IN(A 10+ A2X)/(A2uPon) - (X=YTYY)
dY/dY =(A1tAX)/(A1+AY)
dYag/dY,=4,43, A4=0,6666, A,=0,1044, ¢=1,00
dY;g/dY,=1,00, A=0,017, A,=0,0058 5
dYs ¢dY,=0,31 Y18, d=0,08 -
p
I*,=748 dY,=0,08 dY,/Y,=0, 0044

log [(AY/Y) I (AYIY)] LABJINDUO relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

1%L ABINDUO=IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
%L ABINDUO=IN(A 10+ A2 (A2 Pon)  (X=YTYY)
(@Y/YY(AYIV)=Z[(A 1+ A X)X (A 17 +A)
(dY/Y)o/(dY1 N=0,88, Ay=0,6666, A,=0,1044, ¢=1,00
(dY/Y) g/(dY/Y)=1.00, A,=0,017, A4,=0,0058
(AY/Y} g(dY/YV)=1, 3 Y =18, dY=0,08
log[(dY/YY(dY/Y)J=0, m=-0,13 ¥
* = = = 1 application
I* =748 dY,=0,08 dY,/Y,=0,0044 rapr?g
I =1
Xw=5

XN=0,2
log [(Y/AY) I (YIAY),] LABJINDUO relative
CICy=(YIAY)(YIAY), El(snn;t\;\l/us vaIEe contrast

=100,

I* L ABINDUO=IN(A 10+ A2RY)/(A2nAon)  (Ynd/100<Y<=Y,o)
1%L ABINDUO=IN(A 10 A2X)/(A2uAon) - (X=YTYY)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(YIdY)g/(Y/dY)=1,12, Ay=0,6666, A,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A,=0,017, A-=0,0058
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,08

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range




